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You have four choices for eaci objective type question as A, B, C
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and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet, Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
.l < B A QUESTIONS /ir Sr.No.
i 4 : Symbol of ratio is ______ i
“_:_Jndbv“ﬂyw{l, Lo’
Find the area: -/ /7.3 2
16cm* 16¢cm 8cm dem? -
-
4 cm
______congruent triangles can be 3
made by joining the mid-points
Five Four Three Two of the sides of a triangle.
(C/E N U; D) o Lot f b f'; L bnr £ el .{‘
i ooz =
G O S
Which is one of the associative 4
AB-C)=AB~AC | A(B+C)=AB+ 4C (AB)YC = A(BC) AB = BA | law under multiplication?
S BT LI e o
- MU . 5
2 5 . p Write ¥ x” in exponential
3 5 = ¥ 5 £
X X form . ~E kSN X
Find the value of x from 6
0.12 81 64 12 log, x=4:
e edfxulogyx=4
a y y 5/ Order of the surd %/_; is 7
/5 5 /2 o
e 2u¥AX /I!I_,J"
What will be added to complete 8
~4p* -165° 16b* 4h* the square of 9a* ~12ab?
S Liup, S 9a® —12ab
Ly eeR
, | HCFof a® ~b” and 9
a’—ab+b* a-b a+b a’ +ab+b*| B _pii a® - b2
_‘i:.__f)""uwf = b3 2!
Which of the following is the 10
solution of the inequality
None of these v - -8 3-4x<11?
uf"u’dfc-ufut /4 bl /;“ sl e Jitn
W f¥3-4x <11
If (x, 0)=(0, y) then 1
(1, 1) 0, 1) (1, 0) 0,0y | (6 y)ist (x0)=(0, )/
~ils, ( X, y) iy
A triangle having all sides equal 12
None of these Equilateral Scalene Isoceles iscalled: QS L F ede (]
s s ) 3 o : 5 a“ . % .
S et G Lo wALIgL 3wl
4 3 2 ] How many end points of a ray? 13
S st L2
Parallel Concurrent Congruent Equal Medians of a triangle are ’ 14
yits g5 L,F\L" Y Y2 Elbs Lz ks
The bisectors of the angles of a 15
Concurrent Equal distance Perpendicular Equal triangle are ) Lo
' o > g ’ "
s iz v e Un Lyl U ]
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NOTE: Write saime question number and its parts number on answer book, as given in the question paper. -q—@mﬁ-edb’flé@#ﬁizﬂlﬁw’ﬂ/‘%dw'ﬁ-’-‘f)
SECTION-I1 i
2. Attempt any six parts. l 12=2 x6 _gﬁ:’{)’o}iiém{:—éi’ | 27y
O] simplify [[ 2 O],[1 1T, [1 O 2 0] [1 -]}, [V 0] £z (1)
1 4 3 2 0 1 1 4 3 2 0 1
i 3+2i , 2i | (i
o Express 2 in standard form of a + bi e sta+bi ‘)("d/gvf3 s 'l )
T+i 7+i
(iii) 3,0 \2 3.0\ (iii)
4a’b 4a’b :
Simplify | ——— Y4
pity ( 9a,_5 j ( 9a—5 J <
iv - . - iv)
w Find the value of x from logg, x = —52— -;;:r#’c,afx et loggy x= —32— i
(V) | Express 7.865 x 10* into ordinary notation. _guf(f}'rl:f 7865%x10° | )
(vi) | Define Rational Expression. EufleF| D
(vii) Yoy 3., (vii)
Evaluate Lo for =3, y=—1, z=-2 /7::_.{(}"&2& Lot o]
xz xz
x=3, y=-1, z=-12
(Viil) | Factorize 144a’ + 24a +1 144a* +24a+1.2¢7 (viii)
(ix) | Use remainder theorem to find the remainder when S6x+8x-5 ._.z-érk’dntc_uu(duby (ix)
6x> +8x -5 is divided by x+2 Llat,f(j/x+2
3. Attempt any six parts. 12=2x6 -E‘EA(J’-‘-"U%L'Z‘{(—J’( I 34U
i 1 g ®
. Find square root by factorization, x* —1 +4L2 x* =1+ 4—24‘_’5(}”&/1/;}62’4/4
x X
(ii) | Define radical equation and give an example. Ly Pt sie S e S (i)
(ifi) | Solve the inequality. 3x+1 < 5x—4 3x+1 < Sx—4 g fSenF | (D)
(iv) | In which quadrant these points are lie; 4(=3, ~4) and M A(=3, —4) St i6, (iv)
5~0) (5,-6)
(v) | Draw the line y = 2 on the graph paper. _'é_l-,_/,,;f,._j;ffy 24| O
(1) | Find the diameter mQP m e | (VD)
of the circle. m Q P(2,3) m-Q_ﬁ
(vii) | Find distance between these points. -ér:l”kﬁt.}_lf»ﬁﬁ?w (vii)
A(-4,2), B(4,-3) A(-4,+2), B(-4,-3)

(viii) | Define congruent triangles. ey Sy S | (Vil)
(ix) | In figure ABCD isa — HX»C o £ ABCD F /i (ix)
parallelogram then find shi Fe LU

values of x and m . s ek ud’
A e {ér}"u;’f Sm
4. Attempt any six parts. | 12=2x6 -«,:‘r{/.‘/za&liﬁlzl{cd:( | a4ty
(i) | Define bisector of an angle. _éj___;_,/TJth_:,u (1
(ii) | Are these lengths, the measures of the sides of a triangle? ?u!uk'utffzﬂ’ffﬁwufu!{%érd)g (ii)
3em, 4em, Sem ’ Sem. dem. Sem
(iii) | Define proportion. NESTY N (iii)
(iv) | Find unknown value r,lvcu.’:‘f/‘&fu; (iv)
of the given figure: - 10cm - 10 cm -_Zf:/r)i”/lﬁ"
X X

P.T.0. —




Ty emmad

(2)

MIN—t—>y

(v) | Verify that given measures are the measures of the sides of a i Sl £ el ot H1276 J A S SEIA v)
ight angled triangle. a = = = : " -
right angled triangle. a =3cm, b \ﬁcm, c=4cm a=3om, b:ﬁcm, g
(vi) | Define triangular region. oy Sl (vi)
(vii) | Find the area of §PEs | (VD)
the given figure: R
Scm 5cm -
1 1
- Scm Sem
(viii) | Construct AABC in which S et AABC (viii)
mAB=4cm, mAC =4.2cm, mZA=45° AR, i AE =t Dem, mdA = A5
(ix) | Define circumcentre of a triangle. oy S s (ix)
SECTION-II (s
NOT Attempt any three questions but 24=8x3 409 /d;,ggé“;’gyzﬁamrd edf s
E: question No.9 is compulsory.
5.(A) | Solve by Cramer’s rule 4x—3y =2, 2x+y =1 _ggd’éu&gj(;{.// ()5
4x-3y=2, 2x+y=1
&) % % % % (&)
Simplify (216) ><_(125) (216) x_§/25) Dy
(04) % (04)7
6.(A) | Use logarithm to find the value of 28678x9.01 08678901 1y fopric s K | (-6
0.0234 0.0234
B " g .4 ] .
B) If x+l=7 then find value of x3+—-1; -q/(k’:,ng3+—?yx+—=7ﬁ €2
b X X x
7.(A) | Use factor theorem to factorize. x° —2x> — x +2 _J’/(}Vu’ (e sa Jofk | a7
x*—2x* —x+2
(B) | Find the value of k for which expression will become a -Lhyid/c};)&cu?u_/r)”—"ﬂftfk ()
perfect square. x* —4x® +10x”> —kx+9 44y +10%% —kx+9
8.(A) § s 4
Solve the equation. x + 1 = 2( x——2— ] - 6x _u_/r}"‘_,:J’K._,bv e B
3 3 1 2
x+==2] x—— |- 6x
3 3
(B) | Construct the APQR . Draw their altitudes and show that il u:g:"’ EBN sF £ o S POR 2k Gt
thtﬁre concurrent. . LBt S
mPQ =6cm, mQR = 4.5cm and mPR=15.5cm — —
s mPQ=6cm, mQR=4.5cm
mPR=5.5cm
9. K b Sslr s /Lv,-ﬁ.u?uincfu/rwtd;/ [.J»‘.ub?o/ BN S 9

Prove that any point on the

OR |

right bisector of a line segment is equidistant from its end points.

-Jdﬂ/,f/,u:..:"/u (U!U.U,Clil—/!d:ulg)uxé()u?/}Lb'u/(djlf‘ Ldlulﬁpﬂﬁ'}?d@l(/ﬂ?wdﬂ?gb/’aﬁﬁ'(f‘vgﬁr_é:f.?
Prove that parallelograms on the same base and between the same parallel lines (or of the same

altitude) are equal in area.

29-2024(1°-A)-90000 (MULTAN)
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et oo Ae it b Soi 3 O Lotz n e i gzl Lir 1y @887 -1 2D wiC B A2 L L iy 1z 1 /:idlr‘
You have four choices for each objective type question as A, B, C  Sssdsieizndafear §L STl i S 3 st
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen 1o fill the bubbles. Cuiting or filling two or more bubbles will result in zero mark in that question.
- C . B A QUESTIONS /=iy Sr.No.
The symbol used for “is congruent 1
< . > ~ = to:”_+Janfvyw4.£"§.J?’£"
Congruent Equal Concurrent Parallel Medians of triangle are . 2
S 4. Bp i Iln_ ibaLlak
The right bisectors of the sides of 3
right triangle intersect each other
Inside Hypotenuse Base Perpendicular | on the ;
241 s i 2F Lot Gof L Qi £ et o1 246
-u}L/ d’." 4 f4../»
Similar triangles are of same-shape 4
Small Large Similar Different but sizes.
LA e & il Lo 5 f e
e P
Area of parallelogram is equal to 5
Altitude Distance Length Width product of base and
L Ao du dig L sl £ GRS
~q,t'}f/,lf,ﬁ.'.fﬁg)"lo
A quadrilateral having each angle 6
Rhombus Rectangle Trapezium Parallelogram equal'to 90° is called
' S 535 Lwsuians 0 x 90° i bl
-2 -2 0 2 -2 -2 20-2 Adjoint of|:2 2] is equal to: 7
0 2 Z —2 0 -2 » 22 0 =2
-z Adj 5 2
0 -2
The conjugate of —3 —4i is 8
3+4i -3-4i 3-4i ~3+4i e LS —3—di
i The val l f 14 " 7
e value o Pl is
log(p—q)* | 2[log p+logg} | 2{log p—logq] | log p? ~logq® log[ q]
- =2y log( £J
q9
" a-b g equal to: 10
a’+ab+b* | a’—ab+b’ (a-b) (a+b) a=b
Pl
' a-b
What will be added to complete the;, 11
square of 9a* —~12ab ?
~4b’ 4b° 16b* -16b* Ytuid £iud S8/ 90 ~12ab
Ly
L.C.M of 15x%, 45xy and 12
15x%yz 15xyz 90x°yz 90xyz 30xyz is _
¢ 30xyz »15x%, 45xy
-z J"I-.J‘l:ﬁiu'
If x is no longer than {0, then: 13
x>10 x <10 x28 x<10 Fr$he10 =i x )
Point (-3, — 3) lies in quadrant: 14
v I II I e BUL G (3, ~3) B
Distance between points (0, 0) and 15
") 2 1 0 (L 1)is "
we___ Mgl n (1,150,056

31(Obj)(Fr¥)-2024(1%-A)-88000 (MULTAN)
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NOTE: Write same question number and its parts namber on answer hook, as given in the question paper.

gl P 24l J# E‘,{(y}.y.j Rl ﬂ) Jlr&u‘léﬁ' QUZ ks

SECTION-1 .o
2. Attempt any six parts. ‘ 12=2x6 Yy “_,-,[_,,,{"é{l Z/JI:’
(@) ~5] -1 -1 ~51 41 @
If 4= I find the value of A+ et JA+ —1/!
"4 = | ~2 4
(iiy 64x° 5.3 (i)
L f y 64x’y 2
Simplify 3{—— Y S
s 8z’ YV 8z
(ifiy |If z=2+7 find z+Z «g//’/,f:b’wfofz-*-?? T AR
(iv) | Define logarithm of a real number. IB A (3 Aed? | (V)
(v) | Calculate log, 2 x log, 81 log, 2 x log, 81 _%/r,}’:«';g (v)
(vi) {0 ey - (vi)
Simplify J‘, y2 +(x'+x2 7 + ¥ ‘C Y. 2y 4y
x5 - x* - y?
Vi) | simplify 2(64/5 = 34/5) 20645 — 34/5) s | (viD
(vili) | Factorize 128m” — 242n° 128m® — 242n% .y S5 | (VD
(i) | Factorize x” +14x +48 x? #l8x +48 .y /57 | (%
3. l Attempt any six parts. [12=2x6 ~'§?—T4/‘:~"‘Uﬁ£’7’4‘~‘;ll 3 A
(i) Use factorization to find the square root of the expression O RS E 2k (i)
4x® —12xy+9y”. 43x* —12xy+ 9y
(1) | Solve the equation, \/_t-—_j -7=0 Jx=3=T7=0.y/ /L=l (i)
(ili) | Solve the inequality. —4 <3x+5<8 —4<3x+5<8 S Send (iii)
(iv) | Find the values of m and ¢ of the line by expressinginthe | i» w0 S y=mx+c F, (iv)
form y=mx+ -3x+6y=5 o1 o
i RS o —3x+6y=5-u;/(}”u:"3(fc
(V) | Draw the graph of 3y—1=0. e bii ¥ 3y—1=0cn )
(vi) | Find the distance between the points A(~4, —-3), B(5,7) e i n L2 b (vi)
A(“ 49 ”3)3 B(Sa 7)
(vi) | Find the mid-point of the line segment joining each pairs of Ul sé A(—4,9), B(~4,-3) (vii)
oints. 4(—~4,9), B(-4,~3 & .
P ( ) ( ) —éf#ﬁd?/)&’b;ﬁ’é—‘r’ﬂ:/

(viii) | What is meant by A.S.A = A.S.A? So il JuPbE Jufd (viii)
(ix) | Find the unknowns in s T g0 = ,,07 NN A TANOCY
the given figure. " * £ o D .

750 P
75° %})‘ # - __Hr"j/'/)i"/lﬁ*‘ur
4. Attempt any six parts. 12=2 %6 ~§$’f4;©5'ﬁ5‘3‘€:-6f‘ 4401y
() | In the figure CDis right bisector 5 ¥ AB 155 CD £ FE) (@
of line segment 4B . (f mAB= 6cm % L, B mAB= 6¢cm ,ﬁ_q,_,wd, o
then find mAL and mLB . /’, -a;fi»}” mLB mAL j»
5 g
(i) | 3cm, 4demand Tem are not lengths of the triangle. Justify. | jud S eus £ et Tem s dem 3em (i)
-L[I.wié.m;gﬂ,s-wu:‘}
(iii) | Define Ratio. E s (iii)
(iv) | Verify that the measures of sides are right angle or not. et L S as | (V)
a=16cm, b=30cm,c=34cm T T
a=16cm, b=30cm,c=34cm
(v) | Find the unknown value of d'xt r-"”‘idf‘\fé v)
x' in the figure. - x i x ,25(;"":,{’:
4 I 4cm




SECTION-IL pn0 M TN—> —3 \

‘ (vi) ‘ What is meant by area of a triangle? S s, Bl s (vi)
| (vii) | Find the area of the figure. -é’,}y)/wﬁ (vii)
3em 3cm - )
1 ]
3em 3cm
(viii) | Define incentre, _wf_é,/?styG}j;‘ (viii)
(ix) | Constructa AXYZ , in which FASeAXYZ | (%)
mYZ="76cm, mXY=6.1cm and mLX=90" mFZ =T 6cm. mXV =6.1cm. mLX=90°
SECTION-II (228
NOTE: | Attempt any three questions but 24=8x3 -q-d/'ll9/Jdlfw‘géjétiﬁééﬂb’gééf s
question No.9 is compulsory. N i
5.(A) | Solve the system of linear equations by the Cramer’s rule. E L esalluI A Ul ol | ()5
x+y=7, 3x—-y=6 "’
y x-y x+y=7, 3x-y=6
(B) ¢ m n ¢ n n ) )
Simplify. 31’—6—1—”—1- x %’an x 31,?_( 31,—6—1- x 31'5_ x %}a—[ ul ’
a L a a a™ a" a
6.(A) | Use log table to find the value of 3/2.709 x 4/1.239 -éf)‘”&é;u‘fdwrzjﬁ (-6
3¥2.709 x ¥1.239
B 1
®) If 4x + — =5, then find the value of 64x° + 13 . 64x3+~—1——3—;7n4x+L=5/7 ()
4x 64x 64x 4x
-geredd
7.(A) | Factorize the polynomial by factor theorem. " /df."d/ pre O“J il s Jd/; e | L7
x*+x*-10x+8 ) 53
x +x"—10x+8
(B) | Find the H.C.F by factorization. "{F’l"fy”l‘d'/?*’”’" ()
3 2 | 2 _ = I :
X 27, X"+ 6x 27, 2x 18 x3_27’ x2+6X‘°‘27, 2x2_18
8.(A
() Solve l[xé—)+z=-5w+l(l~3x] -ES
2 6, 3 6 3(2 -
(B) | Construct APQR and draw its altitudes. 6L et APOR
mPQ = 6cm, mQR= 4.5cm, mPQ = 6em, mQR= 4.5cm,
mPR = 5.5¢cm mPR = 5.5cm )
9. Prove that the right bisectors of the sides of a triangle Y. 2 Y LCML@P/J( S
are concurrent,
OR | -9
Prove that triangles on the same base -(f u:'x’/,l/,u:.;"/uUM/,f/,(/@./lZ:UU}IUﬂg'J/?oMG‘L}"u{U’.J‘w G é/.v.f
and of the same (i.e. equal) altitudes are equal in area.

Em o
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